Q.P. Code - 56501

M.A. (Previous) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)
ECONOMICS

(DPA 510} Paper-1 - MICRO ECONOMIC THEORY

Time : 3 Hours]

[Max. Marks : 70/ 80

Instructions to Candidates :
:)ng.@rﬁe’rf,ﬁ’,oaf'dﬂeb H

1)

2)

Students who have attended 30 marks I-A scheme will have to
answer for total of 70 marks.
30 @osy eosdF a’%’gab@ai)cg 20007 90,?; DFTsD 70 eovrre og"g’fr?ff

ouF OFeIes),
Students who have attended 20 marks IA scheme will have to

answer for total of 80 marks. :
20 @osne ©030s II0DGEAVEG, 200D D0 Perel 80 &osiTy g

Vg Oxefes,

3) Answer any FIVE of the following questions under Section-A. {For

4)

students under both the 70 and 80 marks schemes). Each question
carries 14 marks. :
DgTi - BBaLG cleyenide ok FITIrT eugoz (70 03 80 wosridode

TGIODST Iy Perion eFaVIES). G Zert 14 eoseD,

Question No. 11 in Section-B is compulsory for the students under

80 marks scheme only.

80 wozyy wo3br Tgsal edabe wobsS S Perer dgern-09 ST
11de 32 vagabapAcsd.

SECTION - A/ %R - &

Answer any FIVE of the following questions. All questions carry equal marks :

5x14=70

SYNTING adnR)terdte DEY, Sv3 2. dey, FBrvre ISR vosnd :

1.  Explain the use of mathematical and statistical tools in economic analysis.
g dFeardodd rivddear 3o BowR YR MY SesdEad WFOLRY DFOA.

Discuss Neuman-Morgenstern theory.

Eifazssoa‘—maﬂra‘ﬁ' ip*F oS0 km@o@:&d& 232862,

1 P.T.O.
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3.

10.

11.

Explain the revealed preference theory.
2o0T ugdad am%osw@lmam.

Critically explain the law of variable proportions.
BOSPEZT JFYAT VDDITTY, DZOBE A

Discuss the laws of return to scale.
Idped R)Qbmddglzszsm.

Distinguish between perfect competition and monopolistic competition
market.
SOBprr FFpets Bod) FBYadnE FRpckd IRCTLINY FRIT FFaERYE) HI02.

Explain the Sweezy's model of kinked demand curve.
4BpUST En0s weBFodd DoDLBTEY, D0,

Evaluate the relevance of Bowmol's sales maximisation theory.
PR OIC Joeks NoRFed Awesd 293 P80y, BOBCAR.

Discuss the Walrasian general equilibrium.
DeFURR URT BT, Adudecomd Adaddy, BF.

Compare and contrast classical and neo-classical approaches of distribution.
O3V H0T,T0NT H0d) a’d:as 0B, TONT c&%ﬁmcﬁaﬁ&.&ﬁr@eéﬁ SRE wdonD.

SECTION - B/Qwperi - @

Compulsory Question for 80 marks scheme only : 10
80 esodne Jgdad Dy Berivrt dmyods 38,

(a) Explain the consumer's equilibrium with the help of indifference curve
and indifference map.

Brokes Jead 08y Brodes miod wdd SR8 ovsziechod sdudecoms 23adm)
DDA ‘

Or / g5

(b) Critically examine the Marxian theory of distribution.
BT 050 D0 AR0IIR), AoTRFFFeI0N WeFR.
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M.A. {Previous) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)

ECONOMICS

(DPA 520) Paper-II - DEVELOPMENT ECONOMICS

Time : 3 Hours]

[Max. Marks : 70/80

Instructions to Candidates :
Ear] Ot otsdel :

1) Students who have attended 30 marks A scheme will have to

2)

3)

4)

answer for total of 70 marks.
30 wosny &0308 c.-—)’cgéai)@ai)q oL Dexg PeTed 70 gosny et
evd beses).

Students who have attended 20 marks I-A scheme will have to
answer for total of 80 marks.

20 eoFne e0305 a’a)’.é'ai)@ai)c? 200 e Peitel 80 &wﬁ'n’e" Zdrierf
v OesesO.
Answer any FIVE of the following questions under Section-A. (For

students under both the 70 and 80 marks schemes). Each question
carries 14 marks.

Dgmi-ow BBa) AR meEde o ZIN eugdh (70 X&) 80 0571906
TISAVID T, Reredrf afgai.wbg’d ). 53 ZZrT 14 eosried.
Question No. 11 in Section-B is compulsory for the students under

80 marks scheme only.
80 wozne ©030F TJIoL RN WO D PF et D5AT-8 FIT

11de 38 sagabmefoddd

SECTION — A/ &en — &

Answer any FIVE of the following questions. All questions carry equal marks :

5x 14 =70

F9NS adnR)werce 2B BIier ¢ugdD. 2eR, IBridne IBwE Bosrith :

1. Discuss the Ricardian theory of economic development.
oY Notd e is] estaFﬁazpq)E?;Qb 2;03@03563% 2323620,

Explain the growth model of Mrs. Joan Robinson.

Be0d e 0odRVP TS0 wiFs WSt S0Ed wii wuFRD.

1 P.T.O.
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3.

10.

11.

Explain the ideas of social dualism and technological dualism.
TORIT dﬂoddm:{g F2033 dor[id DUIDY, WLIFRO.

Explain the Big-Push theory of Rosenstein Rodan.
BReSRPR D BRCE 0ST 0FS* I8 Aw9o3nT), SO

Discuss the theory of demographic transition.
(EREREN SOFZF oD AYOITI), BeFh

Explain the importance of man power planning in economic development.
a@Fﬁa@%Q?woe?ﬂ BREs Fonsaw adeessod To8,BT), NS00

What is the role of agriculture in economic development? Explain.
e@rm@%@@@m%&m TaZSer? D00,

Explain the contribution of foreign trade for economic development.
U@Fﬂ@%@pﬁ Katal:] msmdd azadoﬁoi)aigl DTDLD.

Discuss the Prebisch-Singer thesis of the terms of trade.
BDe* 20N0°00 ST @3501) ?om¢o3 (2orig® FBoeodd) ITORD.

Explain the merits and demerits of Private Foreign Investment,
oRA D3eB woB=YE 1M T3 BSrendss, MO0,

SECTION - B/ &r - 9

Note : Compulsory Question for 80 marks scheme only : 10
B304 : 80 woBnd DTS DR e gm0l 33

(a) Critically evaluate J.E. Meade's neo-classical growth theory with
technical progress.

#2083 Bridabsy wdteoded B3 WedUST Dodec-TEef WYt AoIHTY
R39¢,c500. :

Or/ g

() Examine the causes and consequences of vicious civil of poverty theory.
ABSB0FO z,m%osw FoOne 3) FOSe08nS), B0
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M.A. (Previous) Degree Examination
SEPTEMBER/OCTOBER 2013

(Directorate of Distance Education)

_ECONOMICS
(DPA 530) Paper-Ill - QUANTITATIVE METHODS FOR
ECONOMISTS
Time : 3 Hours] [Max. Marks : 70/ 80
Instructions to Candidates :
oagarrff}ff BRLIImeD :
1} Answer any FIVE of the following choosing not less than TWO from
each Part.
FAT alpgeadte oo a}’gﬂeﬂ'@ g3 gRrdod eaa’a‘b; FaSratlwricoed
V3038,

2) Question No. 11 in Section-B is compulsory for the students under
80 marks scheme only.

80 eosnd e03ds ogdal esfabd 200 ng@m‘e’ﬁ dggor-8 vV
113c 52 vaabaNcFd.

3) All questions carry equal marks.
DR, @’g’ffeﬁrf FARN esoFrel),

SECTION - A/ &r ~ &
PART - A/%r - &

1. For the following demand and supply functions find new equilibrium price
and quantity when a specific tax of Rs. 3/~ unit is levied on the supplier.

gNS weBd 3y el Dowsndrt 3¢ Prwy, o 3/-C 0o, euserEy Hoeed
2prwant suotsers BAR FBodeces we So3y FRenYE), Fom) Liowd.
D=7220-3P
S=3P -60
2. Find market equilibrium price and quantity for the following demand and

supply functions.
BUNS et B08) el Dowsndnt FwdoFeiod Aodecon 58 o) @d)aeaﬁ&g{ t {ole: A

&HBaD.
D=16-y*
S=4+y

1 P.T.O.
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3. Solve the following set of simultaneous equations using Cramer's rule.
F3,300° Qo[ w93 BN ZTTBRYDY, AL
X+ 2x, — X3 =2
2x1—x2+3x3=5
- X, + 2%, + X, =7
4. Discuss the uses and limitations of mathematical methods in economic

analysis.
BFs oBearsadd, el Sgane guBalpennes) Horie 203ried), WA

5. Define procedures surplus and consumer's surplus using integration.
okl ea® ool eNRde) EEES S 203y esoieehod BUIIBY a5 .

PART - B/t - @
6. Find mean, median and mode for the following distribution.
LT aaé,-“oég 300, doz;i?jﬁ 3032 WBOLTRIRY, g0t LBOD.

cl.: 0-30 30-60 60-90 90-120 120-150
F: 6 15 35 20 4

7. Compute Karl Pearson's co-efficient of correlation for the following data :
YN mﬁﬁ% FoeFF HODVTETT FBROWOT mﬁaoﬁaimqﬁow HROWD
x: 11 12 13 14 15 16 17 18 19
y. 22 21 23 25 24 27 26 29 28

8.  Fit a straight line trend for the following data and predict the sales for 2008.
BINT NG, Loy 20% Jead VowsSsY OB 03y 2008we IAFT, BRTEIIT), BOWITD
I0B.

Year : 2001 2002 2003 2004 2005 2006 2007
=R

Sales (in lakhs) : 30 36 28 19 29 35 40
Soooets (UZNYEY)
9. Compute coefficient of variation for the following data :
$YNT DT, SEI0W0G N8R, Fowd SBO0

cl.: 0-10 10-20 20-30 30-40 40-50
F: 14 16 30 12 8



Q.P. Code - 56503

10.

11.

Construct Fisher's ideal index number for the following data :
FUNS TYRT, SRUT MBBE RAUY0TDD), owdd

Commeodity Base Year Current Year

Price (p,) Quantity (q,) Price (p) Quantity (q,)

A 15 30 18 25
B 17 25 20 30
C 20 40 25 45
D 12 20 15 25

SECTION - B/ 2on - @

Compulsory Question for 80 marks scheme only :
80 wosrd SEsob MlarRaig by TR0 B3,

(a) Explain the various components of time series.
FRo0d Feeseodd AT PrIBNIDY, DSOX.
Or/ eogiso

(5) What are the properties of determinants?
DperdEny ronwgnnvam)h?

10
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M.A. (Previous) Degree Examination
SEPTEMBER/OCTOBER 2013
(Directorate of Distance Education)

ECONOMICS

(DPA 540) Paper-IV - AGRICULTURAL ECONOMICS -1

Time : 3 Hours|

[Max, Marks ; 70/80

Instructions to Candidates :
D, Orridrt ZpesdeD :

iy

2)

3)

4]

Students who have attended 30 marks I-A scheme will have to
answer for total of 70 marks.
30 woznd ©0dbs JdabBobg wobs I Prred 70 wosrle FEnerf

eug Ouefes.
Students who have attended 20 marks IFA scheme will have to

answer for total of 80 marks.
20 wosnY e&o0s0F a’%‘éab@ai)cg WS Do Prreh 80 eosre gt

evg omefes).
Answer any FIVE of the following questions under Section-A. (For
students under both the 70 and 80 marks schemes). Each question

carries 14 marks.
DTN-dV &BADE) QD)oo 83 ggrfe?ff eugds (70 303y 80 eosrTdoRe

FeFIab o3, Pref e aVRIF ). G3 5grf 14 eosrTel.
Question No. 11 in Section-B is compulsory for the students under

80 marks scheme only.
80 wosnly w0305 wdal &BoLE Wil TYPENG gPr-2 FGY

11de g vaabapNogd.

SECTION - A/ 2R ~ o

Answer any FIVE of the following questions. All questions carry equal marks :

5x14=70

$UNT) YA, dRFmEUR DWY, B2 Hery, TBYNRL IR BTN !

1. Discuss the scope and importance of agricultural economics.
BA egrEod 3 A0AT Fore eu0 TR0 dobr), WiF R,

2.  Critically examine the interrelationship between agriculture and industry.
B Fore 8edd Srods H0RTD Boworsn, Soome3gmen J08edd.

1 P.T.O.
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10.

11.

Comment on farm size and productivity relationship.
B HBITY 03 YuIFTS g@ad Bowortd wif A whmyod 393

Describe the resource use pattern in agriculture.
A0S F0TTRAL WYE DDIRTTY, D30

Examine the different views about supply response in agriculture.
gacddg BRYF =:8805 Fodsd A0G BAFeesnds) Z08edR.

Analyse the issues relating to agricultural wages in India.
(ARlecla[o ) RN FRd0IF BRoNTE), DB A2

Discuss the structure of agricultural credit co-operative societies in India.
PUIBA 3BTO BT BospriY Gr3Naddy, WKk

Examine the importance of Regional Rural Banks in agricultural development.
g w@%&%&b@mmde@ﬁ M,A0ee u%oﬁoﬁv} :na’sgdgl S08ed.

Account for low productivity in Indian agriculture.
PUSE FA0hd 3B VBTN FoUHNYTE) 3.

Examine the uses of social forestry.
TR wun susaleerindd), J08edd,

SECTION - B/dyer - £

Compulsory Question for 80 marks scheme only : 10
80 wosnd Bu3odb Do B gmod I3 ¢ -

(a) Discuss the causes and effects of Commercialisation of agriculture.
9 & Soedel 500G TaCnrieh Forie SOmeSoNYE) el
Or/ eogse

(b) Analyse the trends in agricultural growth in India.
1PUITE 34 WeSedt SZ VR Fead.
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